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SECTION 6 ROM SIGNATURE

6% vl VIFFy (BAh)

6.1 Verification

6.1 FRFE

Any gaming machine may be required to perform a
calculation to verify the contents of its game ROM(s)
upon request.

K — PSR BRI IO — AR LD NEE IR
AET BT DR EAE AT D UEN D,

All of the gaming machine's program memory that
influences game outcomes must be included in this
calculation.

ZOFHBEOXMRIIL, F—L2DFERICEEE 52D
= EDT T T AT RTCEDDHIL,

The ROM signature calculation utilizes the 16-bit
CRC algorithm, defined in Section 5, with the
variable ROM verification seed.

AV FF R OFEIZIE, 5 ETEHLE 16 E YR
CRC T VTV ALIRFEH O W 2 Kt — iz
FBEL AT 5,

The gaming machine receives a two-byte ROM
verification seed to initiate a signature calculation
using its ROM contents as data.

77— 281X ROM ONEET —ZLL TV 7T F v
HEZBIRTH-0D 2 3 D ROM idiFy —
RZ&(RARD)SZ T LD,

The gaming machine reads its relevant ROM address
space in a serial manner.

7 — DHEITTE Y 72 ROM 7R AZE2 WA U7 )W §E
FrIAT e,

For gaming machines with multiple byte wide ROMs,
the signature of the first ROM is used as the seed for
the second ROM, and so on.

I NSARTARD ROM Zfii 2 TWASF — LT
X, H&A)D ROM O 7 FFx% 2 FHHD ROM D
—RELTHEHI LW JT1ETRREET 5,

For gaming machines that utilize interleaved memory,
the least significant byte of each word is used to
calculate the signature of the lower ROM.

A HE =) =T AV EHZ TNDT — L TIE, &
7 —R D LSB% F{Z ROM D> 27 FF 2t EI12fH,

The resultant signature is then used as the initial seed
for calculating the signature over the most significant
byte (i.e., upper ROM).

FHREL AL 7T F v iX, MSB(_EAZ ROM)D
ST FTF R RO — N EE L TRED,

While performing this computation, the gaming
machine must continue to respond to all
communications.

SOREEFATH 4 — AT R COMIE IS
BRI T AL,

A gaming machine is expected to compute its
signature as soon as possible after receiving the ROM
verification seed.

7 — K%L ROM MRGFy —RE2Z(Z LIt o0
T TFREEETHIENROLID,

The ROM signature is returned to the host in response
to the first general poll received after completing the
signature calculation.

ROM > 7 FFxid, stB&E T% ., DO ERT VR
—NVEZE L EX  FDOL AR ATRARNIKT,

This is a known exception to the rule for responding
to a general poll, and the host takes care of this
anomaly.

TIVUI BRI NLR— L AR RAE RSN END
HANZX T BRI O BN FE THY, ARANIZ D
BISN 2 AT 5,

If a second signature calculation request is received
while a calculation is in progress or a ROM signature
response is pending transmission, it supersedes the
initial request.

I FFXOFEEY HDHVINIROM VT FF XD
L AR ZEE MG TP RO T FF X i EY Y
TANEZAZ LT & &L, MDYV = ANV DY -
T AN THO,
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6.2 Message Format

6.2 AytE—T T —vvh

The ROM signature verification request long poll is
detailed in Table 6.2a.

ROM 7 FF X kRiE) 7 = ARDI T R — )LD iE
X ZE 6.2a -,

The gaming machine ACKs or NACKs the message,
as detailed in Table 7.4b on page 7-5.

e MENZ DT TR — L Ay — DI LTI
9 ACK/NACK DOFEHfIE, 37 7.4b 2R,

Once the gaming machine has calculated the ROM
signature, it sends the message detailed in Table 6.2b
in response to the next general poll it receives.

F—D2HIE ROM V7 FFv&FHHETHE, RIZZ
BLEEXIAR—MICHT AL AR AL THE
6.2b IZFFIR L= A — V2 55T 5,

6.2a ROM Signature Verification =~ 2K

Address 1 binary 01-7F EGM O7 RL- A

Command | 1 binary 21 ROM signature verification =1~ >K
Seed 2 binary 0000-FFFF ROM DffGEY —R

CRC 2 binary 0000-FFFF 16-£" >k CRC

6.2b ROM Signature Verification =~ RDL AR A

Address 1 binary 01-7F EGM O7 RL- A
Command 1 binary 21 ROM sigunature verification =~/
Signature 2 binary 0000-FFFF ROM > 7 FF ¥
CRC 2 binary 0000-FFFF 16-£"~ CRC
HNEE R
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